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Conservation of Momentum-
Momen’rum of Collmons
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constant during a collision. (Momentum lost by one object is gained by another)
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Conservation of Momentum Example:

1. A 76kg boater, initially at rest in a stationary 45 kg boat, steps out of the boat

'2- ' and onto the dock. If ’rhe boater moves out of the boat with a velocity of 2.5

> 5‘\""‘&0\(' m/s to the right, what is the final velocity of the boat?
Type of collision: eXD\05\ o

Equation: __ WOV = a5 !

(FHewg(2s mls) = (45 tcg)\/;

2. A 1500 kg car traveling at 15 m/s collides with a 4500 kg truck ’rho’r is initially at

rest at a stoplight. The car and ’rruck stick Toge'rher and move together after the
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collision. What is their final velocity? _
Type of collision: ~\f\c/\CLS"ﬂC_. ’
Equation: _ M\ + NNy = (W‘W‘Wb\ V¢

(150K3) (1S™ls) + (45006() = (1500 + +500)Us
12500ka™mls = LoooNg .

3._ A 4 kg bowling ball moving at 8.0 m/s has a head on collision with ono’rher‘
@ 229 * ¢ bowling ball (mass = 6 kg) initially at rest. The first ball stops after the collision.
Find the velocity of the second ball. .
Type of collision: _elash ¢
Equation: _MuNi 1 4+ M2 N2t = moVe « Ve
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